

4.2 Derivatives of Reciprocal Trigonometric Functions

Recall:

$$\frac{d}{dx} \sin x = \cos x$$

$$\frac{d}{dx} \cos x = -\sin x$$

$$\frac{d}{dx} \tan x = \sec^2 x$$

$$\begin{aligned} y &= \sin(3x) \\ \frac{dy}{dx} &= \overline{\cos(3x)} \cdot 3 = 3 \cos 3x \end{aligned}$$

Let's develop the reciprocal trigonometric derivatives

$$y = \csc x$$

$$y = \frac{1}{\sin x}$$

$$y = (\sin x)^{-1}$$

$$y' = -(\sin x)^{-2} \cdot \cos x$$

$$= -\frac{\cos x}{\sin^2 x} = -\frac{\cos x}{(\sin x)(\sin x)} = -\csc x \cot x$$

$$y = \sec x$$

$$y = \cot x$$

Derivatives of Reciprocal Trig Functions

$$\frac{d}{dx} \csc u = -\csc u \cot u \frac{du}{dx}$$

$$\frac{d}{dx} \sec u = \sec u \tan u \frac{du}{dx}$$

$$\frac{d}{dx} \cot u = -\csc^2 u \frac{du}{dx}$$

Ex. 1 Find the derivative of the following:

$$a) y = \csc(\underline{x^2 + 2})$$

$$y' = (-\csc(x^2 + 2) \cot(x^2 + 2)) 2x$$

$$y' = -2x \csc(x^2 + 2) \cot(x^2 + 2)$$

$$b) y = \sec^2(2x)$$

$$y = (\sec 2x)^2$$

$$y' = 2(\sec 2x)^1 \cdot (\sec 2x \tan 2x) \cdot 2$$

$$y' = 4 \sec^2 2x \tan 2x$$

$$c) y = \cot(3x^2 - 4x)$$

$$y' = (-\csc^2(3x^2 - 4x))(\underline{6x - 4})$$

$$y' = -2(3x - 2)\csc^2(3x^2 - 4x)$$

$$d) y = e^{3x} \underline{\csc 5x}$$

$$y' = e^{3x} (-\csc 5x \cot 5x) \cdot 5 + (\csc 5x) \underline{e^{3x} \cdot 3}$$

$$= -5 \underline{e^{3x}} \underline{\csc 5x} \cot 5x + 3 \underline{e^{3x}} \underline{\csc 5x}$$

$$= e^{3x} \csc 5x \overset{\text{GCF}}{(-5 \cot 5x + 3)}$$

$$e) y = \frac{2x}{\cot 3x}$$

$$y' = \frac{(\cot 3x)(2) - 2x(-\csc^2 3x) \cdot 3}{\cot^2 3x}$$

$$= \frac{2\cot 3x + 6x \csc^2 3x}{\cot^2 3x}$$

$$f) x^3 + 2y = \sec(4y^3) + 9$$

$$3x^2 + 2 \frac{dy}{dx} = \sec(4y^3) \tan(4y^3) \cdot 12y^2 \frac{dy}{dx}$$

$$3x^2 = 12y^2 \sec(4y^3) \tan(4y^3) \frac{dy}{dx} - 2 \frac{dy}{dx}$$

$$3x^2 = \frac{dy}{dx} (12y^2 \sec(4y^3) \tan(4y^3) - 2)$$

$$\frac{3x^2}{12y^2 \sec(4y^3) \tan(4y^3) - 2} = \frac{dy}{dx}$$

Assignment

Calc 30 Text

Page 333

#'s 7-9, 11, 12, 17, 20, 24, 25,
36, 40, 41, 44